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&. ‘Complete the sentences below by choosing the correct verbs and
prepositions from the two boxes. Be careful: sometimes you have to change the form of the verb.

VERBS PREPOSITIONS
back down
boot break call down down in
log log plug round off off on on
shut turn turn up up up up
warm up .
1 No wonder it isn’t working: you haven’t even it !
2 You have to give your password in order to to the system.
3 Pushing the big red button on the front the CPU
o With all the virus detectors we use, it takes me ten minutes to these
days.
5 If you don’t regularly you could lose data.
6 I all the customers’ addresses from the database and checked them on
screen. |
7 When we found the virus the ﬁm thing we did was to the entire B
system. : .

A
I. The opposite of add is __saltract

2. The opposite of authorize is

3. The opposite of automated is

4. The opposite of backward is

5. The opposite of boot up is

6. The opposite of character based is

7. The opposite of column is

8. The opposite of confirm is

9.'Th€ol‘:_bb‘55ite of contiguous is

10. The opposite of continue is

11. The opposite of delete is

12. The opposite of flexible is

REWRITE THE SENTENCES below, changing the verbs (which are in italics) to nouns. Don’t change
the meaning of the sentences, but be prepared to make grammatical changes if necessary. For example:
The two systems interact = There's interaction between the two systems

I The user’s new transaction was recorded in the
database.

................................................

............

S et ent 0 0t0se 300 iettusttirescratverrasecananssttntassesssnssonten

il | . e

-----------------------------------------

.................................................

4 The new PC will be launched in January.

il | T S

------------------------------------------------------------------------------

------------------------------------------------------------------------------

S The system failed when I booted up this
moming. ‘

..............................................................................

.......................................

6 The factory is equipped for computer controlled
production.

.......
.........................................

..................................................




